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1. (2) limyoy o2 =7 (5%)

(b) limy_o[(tanx)*] =? (5%)

2. (a) Zld;(tan’l %) =7 (5%)

(b) a%zz-cos‘l@ =? (5%)

3. (a) [x3sin2xdx =? (5%)

®) [7 e~ dx =? (5%)
4. Solve the initial value problem y’ =e™* —y, y{(0) = 1. (10%)
5 TFind suitable new variables to transform the partial differential
equation to normal form and solve it

Uyy T 2Uxy T Uyy = 0. (10%) : 2

6. Apply Laplace transform to solve

y'(t) —y(@®) =t, y(0) =1, y'(0) = 1. (10%)
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7. Using separation of variables to solve o £ FYE

The boundary conditions are u(0, t) =0 and u(L,t) =0

for all z. The initial conditions are u(x, 0) = f(x) and

ou(x, t)
ot

lt=0 = 0. (10%)

8. Kehhthsg vVi=4x (>0) REL y=2 ¥ ysbik B Rz
R B - (10%)

9. MARMKFYyOHEF LA rZHANEFXE 20 A
= (10%)

10. Find the eigenvalues and eigenvectors of A =

(10%)
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